Complete the sentences below by inserting the correct degree of Comparison of the
adjectives in brackets.

10.

11.

12.

13.

14,

15.

16.

17.

The boy assisted in moving the heavy box. (strong)

A keyboard is

to play than a guitar. (easy)

Of the four boxes, this one is the . (heavy)

The

A guitar is

of the three brothers is an engineer. (young)

to play. (easy)

Christopher Columbus is the
(famous)

The more you study, the

sailor in the world.

you will become. (smart)

Samuel is

than his sister Joan. (clever)

Which is the

mountain range in the world? (high)

Of the two bags, the one

to you is mine. (near)

We crossed the

Laura’s dress was

of the two bridges. (narrow)

than Deborah’s. (pretty)

Which is

, purple or navy? (dark)

Of the twin, she is

. (intelligent)

Mark is the

among all of the boys. (charming)

Hand me the

end of the rope. (thin)

John has several marbles, but Peter has even

(many)

than him.
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18. My grandfather’s armchair is than my dad’s.
(comfortable)

19. The youngest of the three students is the behaved. (bad)

20. Thisisan exercise. (interesting)
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